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1.  With reference to the Parliament of India, | 8.
consider the following statements :

1. A private member's bill is a bill
pregsented by a Member of Parliament
who i not elected but only nominated
by the President of India.

2 Revently, & private member's bill has
been passed in the Parliament of India
for the first time in its history.

Which of the statements given above is/are

correct ?

(a} 1only

{(b) Z2Zonly i

{c)  Both1land?2

(d} Neither 1 nor 2

2.  With referencs to the difference belween the
culture of Rigvedic Aryans and Indus Valley
people. which of the following statements

is/are correct 7

1. Rigvedic Aryans used the coat of mail | 5,
and helmet in warfare whereas the
people of Indus Valley Civilization did
not leave any evidence of using them.

2 Rigvedic Arvans knew gold, silver and
copper whereas Indus Valley people 5
knew pnly copper and iron. :

3 Rigvedic Aryans had domesticated the
horse whereus there is np evidence of
Indus Valley people having been aware
of this animal.

Select the correct answer using the code given

below :

tal 1 only

(bt  2aund 3 only

{c) 1 and3 only

) 1, 2and3

AMC-U-BKLP {3-A)

‘Recognition of Pripr Learning Scheme' is

sometimes - mentioned in the news wnth

reference to

ta} Certifying the skills
construction workers
traditional channels,

th!  Enrolling the persons in Universilies [or
dhstance learning programmes,

ie)]  Reserving some skilled jobs to rural and

acquired by
through

urban poor in some public sector
underlakings,

{d) Certifying the skills acquired by
trainees under the National Skill

Drevelopment Programme.

From the ecological point of wicw, which one
of the following assumes importance in being
a good link between the Eastern Ghats and
the Western Ghats ?

lal  Sathyamangalam Tiger Reserve

(h)  Nallamala I"orest

fe) Nagarhole National Park

idy  Seshachalam Biosphers Rezerve

One of the implications of equality in society
is the absence of

ial Privileges

(bl Restraints

el Competition

idy  ldeology

Consider the following statements in respect

of Trade Helated Anplysis of Fauna and Flora

in Commeree (TRAFFIC) ¢

1. TRAFFIC is a bureau
Mations Fnvironment
(ITNEP).

2. The mission of TRAFFIC is to ensure
that trade in wild plants and animals is
not a threat to the conservation of

under United
" Programine

nature.
Which of the above statements isfare correct 7
(al  1only
(h) 2 only

fc} Both land 2
id! MNeither 1 nor 2

L
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7.  Which principle among the [ollowing was
added to the Direclive Principles of State
Policy by the 49" Amendment to the
Constitution ?
ia) Equal payv for equal work for both men

and women

ib)  Participation of workers in the
management of industries

{e}  Right to work, education and public
assistance

{d) Securing living wage and human
conditions of work to workers

B. . Which one of the following statements is
correct 7
‘a) Rights are claims of the State against

the citizens.

(b} Rights are privileges which are
incorporated in the Constitution of a
State.

(¢)  Rights are claims of the citizens against
the State.

(d) Rights ars privileges of a few citizens
against the many.

9.  Which of the following gives ‘Global Gender
Gap Index’ ranking to the countries of the
world ?

(a)  World Eeonomie Forum

(b} UN Human Rights Council

(e}  UN Women '

(d}  World Health Organization

10. Which of the following statements is/are
correct regarding Smarl India Hackathon
20077
1. It is a centrally sponsored scheme for

developing every city of our country into
Smart Cities in a decade.

2. It is an initiative to identify new digital
technology innovations for solving the
many problems faced by our country.,

3. It 18 a programme aimed at making all
the financial transactions in our country
completely digital in a decade.

Select. the correct answer using the code given

below ;

(a} 1and3only

(b}  2only

(e} 3 only

(d) 2and3only

AMC-U-BKLP {5-

11.

12,

13.

A)

Which of the following statements is/are
correct  regarding the Monetary Policy
Committes (MPC) ?

1. It decides the RBI's benchmark interest
rates.

2, It is a 1Z-member body including the
Governor of RBI and is reconstituted
every yvear.

3. It funetions under the chairmanship of
the Union Finance Minister.

Select the correct answer using the code given

below :

fal 1only

thl land 2 only

fel  3Jonly

(d) 2and3only

Wilh  ref@rence o Manipuri Sankirtana,

consider the following statements :

1. It is a song and dance performance.

2, Cymbals are the only musical

instruments used in the performance,
3. It iz performed to narrate the life and
deeds of Lord Krishna.

Which of the statements given above isfare
correct 7

() 1,2&nd3d
(bl 1andd3d only
ey Z2and 3 only
id}  1wonly

Who among the following was/were associated
with the introduction of Ryotwari Settlement
in India during the British rule 7

1. Lord Cornwallis

2.  Alexander Read

3.  Thomas Munro

Select the correct answer using the code given
bhelow :

(a) 1only ,
(b 1 and 3 only

(e 2 and 3 only

tdl  1,2and3
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14,

ta) 1 only
{b) 2 and 3 only
te) 1and 3 only
{d) 1,2and3
15. The Trade Disputes Act of 1929 provided for
{a) the participation of workers in the
management of industries, '
{b}  arbitrary powers to the management to
quell industrial disputes.
fe) an intervention by the British Court in
the event of a trade dispute.
(d) a system of tribunals and a ban on
strikes.
16. Local self-government can be best explained
as an exercise in
ia) Federalism ,
th!  Democratic decentralisation
ic)  Administrative delegation
id} Direct democracy
17,  Consider the following statements
With reference to the Constitution of India,
the Directive Prineiples of State Policy
constitute limitations upon
1. legislative function.
2. executive function,
Which of the above statements ig/are correct 7
{n) 1only
(by  2only
(el Both 1 and 2
(dy  Neither 1 nor 2
AMC-U-BKLP (T

In the context of solving pollution problems,
what isfare (he advantage/advantages of
bioremediation technique ?

1. Ttis a technique for cleaning up pollution
by enhancing the same biodegradation
process that ocours in natore.

2. Any contaminant with heavy metals such
as cadmium and lead can be readily and
completely treated by bioremediation
using microorganisms.

4. Genetic engineering can be used to creste
microorganisms specifically designed for
bioremediation.

Belect the correct answer using the code given

below :

18.

19.

20.

A

The term TDigital Single Market Strategy'
seen in the news refers Lo

(a) ASEAN

(b) BRICS '
el EU

(d) G20

At one of the places in India, if you stand on
the seashore and wateh the sea, vou will find
that the sea water recedes from the shore line
a few kilometres and eomes back to the shore,
twice a day, and you can actually walk on the
sea floor when the water recedes, This unique
phenomenon is seen at

(a) Bhavnagar

by  Bheemunipatnam
fe)  Chandipur

id) Nagapattinam

With reference to the ‘Prohibition of Benami
Property Transactionz Act, 1988 (PRPT Act)’,
eonsider the following statements ;

1. A property transaction is not treated as
a benami transaction if the owner of the
property 1s not-aware of the transaction.

2. Properties held benami are linble for
confiseation by the Government.

i The Act provides for three authorities
for investigations but does not provide
for any appellate mechanism,.

Which of the stalements given above isfare
correct ?

ta} 1lonly
(b} 2only
(¢) Lland3only
(dy 2Zand3only
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21. Due to some reasons, if there is a huge [all in
the population of species of butterflies, what
eould be its likely consequencaleansequences 7
1.  Pollination of spme plants could be

adversely affected.

2.  There could be a drastic increase in the
fungal infections of some cultivated
plants.

3. It could lead to a fall in the population
of spme species of wasps, spiders and
birds,

Select the correct answer using the eode given

below :

(a)y lonly

(b 2 and 3 only

(e) 1land3only

(d) 1,2and3

22, It is possible to produce algae hased biofuels,
but what isfare the likely limitation(s) of
developing countries in  promoting this
industry ?

1.  Production of algne based biofuels is
possible in sess only and not on
continents,

2. Setting up and engineering the algae
based biofuel production requires high
level of expertise/technology until the
construetion is completed.

o Economically viable production
necessitates the setting up of large scale
facilities which may raise ecological and
social converns.

Seiect the correct answer using the ende given

below :

fa)  1and 2 only

by Zand 3 only

(ed 8 only

idl] 1,2and3

AMC-U-BKLP {9-

25.

Al

Which of the following are the ohjectives of
‘Nat‘lqnal Nutrition Mission” ?

1. To create awareness relating to
malnutrilion among pregoant women
and lactating mothers.

2. To reduce the incidence of anaemia

among young children, adelescent girls
and women.

3. To promote the consumption of millets,
coarse cereals and unpolished rice,

4. T promote the congumption of poultry
CEES.

Select the correct answer using the code given

below

{n} land 2 only

(b} 1, 2and 3only

{fe} 1,2and4only

id)  Sand4only

Consider the following stalements

1 The TFactories Act, 1881 was passed
with a view Lo fix the wages of
industrial workers and to allow the
workers to form trade unions.

2. - N.M. Lokhande was a pioneer in
organizing the labour movement in

British India.
Which of the ahove statements is/are correct 7
{a) lonly
b}y Z2only

(e}  Doth 1 and 2
id) Neither 1 nor 2

In the confext of mitigating the impending
global  warming due te anthropogenic
emissions of carbon dioxide, which of the
following can be the potential sites for carbon
sequestration ? .

1 Abandoned and uneconomic coal seams
2.  Depleted o1l and gas reservoirs

3. Subterranean deep saline formations

Select the correct answer using the code given
below :

fa} land 2 only
thy  Jonly

{e)} land 3 oenly
fd) 1,2and3
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Fifem .

1. e T S ARl @ S AErd o R
e =8 fufesn & fcaedt 2

2. Offg 78 $it Foafa fafess § &6 R e
7% Titem w4 il ueh e T

3. diem Ag, WeA v anersy i HE 9
=77 <1 mwrE § W e 8

Rl weEl 1 & waE gd 3 7

(a) ael 131 3

T = )

{c) Faa 23R 3

(d) 1,23M 3

Frafafan Fuat = faam Fifmw

1. IwERfeEdTE wout o, S S W 6
st g Wi war # fagy 2 geiE
TR |
|

9 W] d A wA-EE TE A 0

fa) e 1

(b) e 2

(¢) 13N 22F

() T L AR 2
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28. The object of the Butler Committee of 1827 | 28.
was to
(a) Define the jurisdiction of the Central
-and Provineial Governmeuts,
(b} Define the powers of the Secretary of
State for India.
(¢) Impose censorship on national press.
(d) Improve the relationship between the
(3overnment of India and the Indian
States.
a30.
27. The term Domestic Content Requirement’ is
gometimes seen in the news with reference
to
(a) Developing solar power preduction in
our country
(b) Granting licences to foreign T.V.
channels in our country
{e) [Exporting our food products to other
countries
(d) Permitting foreign educational
institutions to set up their campuses in
our country
28. Consider the following statements :
1. The Nudear Security Summits are
periodically held under the aegis of the | 4y
United Nations.
2. The International Panel on Fissile
Materials is an organ of International
Atomic Encrgy Agency.
Which of the statements given above isfare
vorrect 7
(a) 1only
(b} 2only
{¢) Bothland?2
{d)  Neither 1 nor 2
AMC-U-BKLP (11=A)

Who among the following can join the
National Pension System (NPS) ?

{a) Resident Indian citizens only

(b) Persons of age from 21 to 55 only

(e)  All State Government employees joining
the services after the date of notification
by the respective State Governments

(dy All Central Government employees

including those of Armed Forves joining
the services on or after 15 April, 2004

With reference to river Teesta, consider the
following statements

1. The source of river Tecsta is the same
as that of Brahmaputra but it flows
through Sikkim.

2, River Rangeet originates in Silkkim and
it is a tributary of river Teesta.

3.  River Teesta flows into Bay of Bengal on
the border of India and Bangladesh.

Which of the statements given above isfare
correct ?

{a) 1and3only
(b 2 only

(e} - 2and3donly
(dd 1,2and3

Consider the following statements :

3 A In tropical regions, Zika virus disease is
transmitted by the same mosquito that
transmils dengue.
Sexual transmission of
dizease is possible,

e

Which of the statements given above iglare
correct 7

{a} 1only

{bY 2only

(¢) Bothland2
(d) Neither 1 nor 2
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32, FAfefas syt o f=m fifm . 35.
1. W& T & el el EEl & fau
Y AWE &ga (BIS) W AWE THE
Afa B |
2.  ACMARK, @ vg 5§ @@q (PA0) gm0
SRl w1 s s 2
IuEn el H H e w0
(a) e 1 |
(b} “hawd 2
(e) 1T oI
(d) Ja L1982
83. UM FN WER (RS Wiheet Wike)” =i
Wi Thanfeam s 1 1wy 28 0
L. 4% $ awmH 5 fau wdgwdy | 6.
gelargiheR ST O 7 |
2. % F9H % o asEmd anm gew
Fudl & faed T 3w A e F
srEy diEa fedt &
lay =REE 1
(by = 9
(e} 13T 28T
(d) TA1LA# 2
34. Tl Az wom afewmr AR (G
seciagare WiTdl gew wirent) & wed W, | 37
Frfefas o gt fEmmn i
1. 7% ota T s oft TRIPS goed &
wfe wiw i ufesgm =1 gEma
9, St A ot d@ada frwm s #
wihgsw el st % fafems & fom,
Feh A (se T §
T TRl § § wea ol 3% 2
lal =Heae 1
(b) had 2
(e} 1307 22T
(d) Ad 1, 7H 2
AMC-U-BKLF (12-A)

Jyefta (gean) Ifafmn, 1972 % san, R
=feh g, @ gm foee mo wfage ageyi &
A &R & e, Fofafas 8 Shas
uroft =1 e 77 o =1 o= 2

1. Hisawer

9. U St T

3. et ia

e fu e @1 wim = w9 I g
(ay e 1

by Haer 23 3

(¢) FaH 13T 3

(dy 1,233

Fafafas s § § a8 aehg ami

o e Haedl & e d w2 0

1L Faedl sl wEiHg e % fuouw
ot afF 41 S 8 )

2. o fafires wdegl & gy won dafim §

At fEm T e eh wdln et wEr IR

[a) %ﬂﬂl

(b} Hael 2

(¢} 1R 22H

(d) a1, T8 2

1. TERAE gE —

ferfewr gieam wHftTm & wem wens
2. nmaaﬁqrg%gﬁt _

HETH HE[OH HHT & HEh
3. gAY wasf]

g uaifiauns % demges
ST g A & wEAE ad gt 38 ¢
(a) WA 1
(b) whaet 13 3
(¢) “hael 2 371 3
(d) 1,233
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32. Consider the lollowing statementis a5,

1. . The Standard Mark of Bureau of Indian
Standards (BIS) is mandatory for
automotive Lyres and tubes.

9. AGMARK is a quality Certification
Mark issued by the Food and
Agriculture Organisation (FACL

Which of the statements given ahove is/are

correct 7

fal 1 only

(th) Zonly

{c) Both1land?2

id) Neither 1 nor 2

33, What isfare the advantagefadvantages of

implementing the ‘National Agriculture 6.

Market’ scheme 7

1. It is a pan-India electronic trading portal

for agricultural commodities,

2, It provides the farmers access to

nationwide  market, with  prices
Ccommensurate with the quality of their
produce.

Select the correcl answer nsing the code given

helow :

ial 1 omly

(h)  Z2only

{¢c) Both1and?2

(d) Neither 1 nor2

34, With reference to the National Intellectual i

Property Rights Poliey’, cohsider the following

statemernts :

h It reiterates India’s commitment to the
Doha Development Agenda and the
TRIPS Agreement.

9.  Department of Industrial Poelicy and
Promotion is the nodal agency for
regulating intellectual praperty rights
in India,

Which of the above statements is/are correct ?

tal 1 only

tbl 2 only

f¢) Bothland?2

id) Neither 1 nor2

AMC-U-BKLP (13-A)

Aceording to the Wildlifﬁ \ Protection] Act,
1972, which of the following animals cannot
he hunted by any person except under some
provisions provided by law ?

1. Gharial

2. Indian wild ass

8. Wild buftalo

Seleot the correct answer using the code given
below :

fa) 1 anly

by 2and 3 only
el 1and 3 only
(d 1,2and3

Which of the following statements is/are true

of the Fundamental Duties of an Indian

eitizen 7

1. A legislative process has been provided
to enforce these duties.

2. They are correlative to legal duties.

Select the correet answer using the code given
below :

(al
ih) 2 only

fey  Both 1and 2
{d) Neither 1 nor 2

1 anly

Consider the following pairs :

1. Radhakanta Deb—
First President of the British Indian
Association

9. Gazuolu Lakshminarasu Chetty —

Founder of the Madras Mahajana
Sabha

3. Burendranath Banerjee
Founder of the Indian Association
Which of the above pairs isfare correctly

matched 7
fal 1 only
{b}) 1and 3 only

{e)  Zand 3 only
(d) 1,2and3
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AMC-U-BKLP

Fraferfa stwgl 4 A F9W wE v &
afeam & 3l 4 affee 777 2 2

(a) Tomm i wdaE

(b) T T

(e) HAfisafs &1 =

(d) Tawams =i =

SqmdE e dfivg ey’ % w4,

frteiian =9 W fa=m Fifse .

1.  QCI T34, UWd SRl 79 THA 30
TR HY €9 & fon oA |

2. QCI% w1 # Fafs, 0w g www
=l F M8 FEedl W, yaE o g
T B |

FH SO | FHEA vl R 2
(a) a1

(b) whee 2

(e) 13fR 27

(d) Ad1,AE 2

a4 w1 5w i (SFBe) #l vuifia 9 &=
T T ] 2

L T AR iAo o gfd s
2. ©Y I HWEE S wowe A R e

3. FE safE 1 foeree; anf g5t 9 s
zenTfud w0 = Tou uienfea e

= 13 e e @1 ggT w3 ghie
() el 1T 2

(b) Hae 2 3 3

(¢) e 131 3

(d) 1,23 3

41,

{14 -A)

‘oae IR wEd faww @ ufen dfEfes

Al IEE (APMCHUDY, % &=y §

frerfefiga sadi w fa=m Fifm |

1. W¥H APMCHUD “Rd ® 2006 4 79
a3, o fowg awg wwd vy — AR
WiesreEmd 3T e w97 |

2. wa wft T afeafle s 6

Tl ADB, APEC 31 ASEAN #t
Emien 3 ST R |

I FYAT H O RA-AA 9l A
(a) a1

(b) “had 2

te) 13 ogH

() Fd1,TH2

e w1 e 0 4 2 f6 A famis
EEinil

(a} HERE gEE @R Alkenst 6 g s
=fe =i |

(b} HREUEH g W BIEd AAE el
qgia # |

() Theftere @i Eflar 4 g7 T 4w
=i = |

(d) =uidd Zei FEFAH & TH JE F

TRFA  YTE  simys (FeRE Y

TR [ UPL) %1 srifaa %0 8 freofafes §

# foraer B9 i waifiye gy 2 0

(a) Aemed yAEl F Fu dems 9w
ATIVEH T8l B |

(b) T S S 4 90 @ Hifaw g
Tur fefoea gz & ot |

(¢) FDImafs § arft 9fg #nft |

(d) fo¥a eafFeEl @1 SueEl (aferm) @
IUE AW (SEE gEW)  aEd
TEERT 7 S |
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38. Which one of the following objectives is not | 41.
embodied in the Preamble to the Constitution
of India ?
{a} Liberty of thought
(b}  Economie liberty
(¢}  Liberty of expression
(d) Liberty of belief
39, With reference to ‘Quality Ceuneil of India
(QC1), eonsider the following statements :
1. QCI was set up jointly by the
Governmeni of India and the Indian
Industry.
2 Chairman of QCI is appointed by the
Prime Minister on the recoommendations
of the industry to the Government.
Which of the above statements isfare correct ?
ta) 1only
(b 2 only 42.
(¢ Bothland?2
(d) MNeither 1 nor 2
40. What i§ the purpose of setting up of Small
Finance Banks (3FBs) in India ?
1.  Tosupply credit to small business units
2. To supply credit to small and marginal
farmers
43,
3. To encourage young entrepreneurs to
get up business particularly in rural
areas.
Select the correct answer using the eode given
balow
ia) 1and 2only
(bl  2and 3 only
(e}  land3only
d) 1,2and3
AMC-U-BKLF (15-A)

With reference to ‘Asia Pacific Ministerial
Conference on  Housing and  Urban
Development (APMCHUDY, consider the
following statemerits :

1. The first APMUHUD was held in
India in 2006 on the themes ‘Emerging
Urban Forms — Policy Responses and
Governance Structure’.

2. India hosts all the Annunal Ministerial
Conferences in partnership with ADB,
APEC and ASEAN.

Which of the statements given above is/are
correct 7

fa) lonly

(b) 2only

{c) Both1and?2
(d) Neither 1 nor 2

Democracy’s superior virtue lies in the fact
Lhat il ealls into activity

the intelligence and
nrdinary men and women.

a) character of

(b} the methods for strengthening executive

leadership.

a supertor individual with dymamism
and vision.

le)

{d) aband of dedicated party workers.

Which of the following iz a mast likely
consequence of implementing the ‘Unified
Payments Interface (LTPLY 7

{a) Mobile wallets will not be necessary for

online payments,

(b}  Digital currency will totally replace the
physical eurrency in about two decades.

(c) FDI inflows will drastically increase.

(di Direct transfer of subsidies to poor

people will become very effective.
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46.

AMC-U-BKLP

Ffifl wmrEm § ‘gde B, TR,

e fimdl siv Sivsd uise’ 99 =, fem

aed | o 2

(a) HETS T YW AW Y

(b) ¥ A1 =3 FavI 1 e
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CarEe uige § ReE wen 3vEl R s aswa
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ERciuSc e e

2. g® dedih, BEel gl @ 93 Bl @
EEALRRCTo R B U E i G G ko pok o e
Eracli: ol ari - ol

3. SEH WM, wHeAl § iy aeedf
auz & o e s awar 2

fré fw o g w1 wE R EE I gF

(a) FHFA 1

(b) hae 2R 8

(o) #heet 13T 3

(d) 1,233

HHT TET 6 WA OO 0 9§ e

ta) FEUfers 3R Gammees @F =E3 w9
| FHE FE 2

(b) um Aifa Fit o =e s @ el gg
A 27 8 |

(¢) TR, fourmvEzer F oy IweE

COEIIETR

d) WER & woy F Fetam F o
#Heoll S Jehdl |

47.

48.

49,

(16—A)

ard & Hed W, Fafaiaa 0 8 s sfiemn

AT el=dl & =ie Hd gay 2 0

(a) ATieRT FHedl & T1Y Ta-Helta 3 |

(by tferrm =i & o wATE SR aded)
CESrER

(¢} THFE F Hfgaea & fawwm F o
AR, A & ey, el # |

(d) TS F T & fou weew, 3
it wEvEy 8 |

uid & sfaur & Fwfare! & aa Fefafas §
7 T wfafafea g5 2 2

(n)  FeRwER

(b) el stiaen

(e T i A Frews =

(d) T e -

gfe s wifewr 4 wigan ) 9= g2 99l &
F T, T T YE W 3 Teed THE
TreTreRt Urd % 3=t #e-H-an e i g |
RIS TG BT 7

(el
(b
{e)
(d)

£

0| -1 &

ywd H FER e /T gm afmfg &

Feal & HR e w2 2
1. T TETE
3.  FIEH T

4 fou au whe w1 welm @ w5 I g
fa) a1

(b) =haw 2 31T 3

(¢) FHFar 131 3

() 1,233
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44, 47.
‘String Theory' and ‘Standard Model' are
sometimes seen in the news in the eontext of
(al  Observation and understanding of the
Universe

(b} Study of the solar and the lunar eclipses

(¢} Placing satellites in the orbit of the
Earth

(d) Origin and evolution of living organisms
on the Earth
45. With reference to agriculture in India, how
can the technique of ‘genome sequencing, | 4o
often seen in the news, be used in the
immediate future 7
1. Genome sequencing can be used to
identify genetic markers for disease
resistance and drought telerance in
various crop plants.

2. This technique helps in reducing the | 49
time required to develop new varieties
of erop plants,

3, It ean he wused to decipher the
host-pathogen relationships in crops.

Seleet the correct answer using the code given

below :

ta)  1anly

(b} 2and3 only

fe)  1land3 only £0.

(d) 1,2and3
46. The main advantage of the parliamentary
form of government is that
{a) the excoutive and Jegislature work
independently.

(h} it provides continuity of poelicy and is
maore efficient.

(¢)  the executive remaing responsible to the
legislature,

{d) the head of the government cannot be
changed without election.

AMC-U-BKLP (17 -A)

The terms ‘Event Horizon', ‘Singularity’,

In the context of India, which one of the
following is the correct relationship between
Rights and Duties ?

{a} Rights are correlative with Duties.

(b} Rights are personal and hence
independent of society and Duties.

(e}  Rights, not Duties, are important for
the advancement of the persunality of
the citizen.

(d) Duties, not Rights, are impuortant for

the stability of the State.

The mind of the makers of the Constitution of
India iz reflected in which of the following ?

{a}  The Preamble

{b) The Fundamental Rights

(¢) The Directive Principles of State Policy
(d) The Fundamental Duties

If you travel by road from Kohima to
Kottayam, what is the minimum number of
States within India through which you can

travel, including the origin and the
destination ?

(a) 6

(hy 7

(e} B

tdy 9

The Parliament of India exercises control over
the functions of the Council of Ministers
throwgh

1. Adjournment motion
2. Question hoar
3. Supplementary quostions

Select the correct answer using the code given
helow -

{a) 1only

(b} 2and 3 only
(e} land3only
(d) 1,2and3
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fefefes & 8@ w9 v wEdAw Tsm 8
wfeEmETy Fg-a=A o 2

{a) RIS

(b) HIZGwe

(¢) HoEHAT (Tgeem)

(d) ToeIs

‘el wway uiEdd i (eEe FemEhe

=7 umew) % wed #, fofafas sei d

H ®H-AVE wE B 7

1. U ge i uEa

2. e wemdle Fwwsfie 2w o=t R
fasm Hiffal il wwel 4 ey e
F THER B ddAidl Ug fadE HEE
e FAl A |

3. oW "= fawe s=ae §m9e (WRD
st gl fawm &g fage =m afivg
(WBCSD) 2 & s 2 |

4te fau 1 5z =1y = Ad I 9E6

(a) ﬁﬁ‘l].-‘sﬂfz
ib) ﬁﬁma
(c) *Haet 237 3
(d) 1,237 3
53. YW@ F WU Ifae@m & wey H, Hefafad
FeHT W AR Fi
1. wfes ot vfowe S5 5 % aeEm
9
2. wAlEETe ® oweE df & gfEawg
F 5 o N T o S, s O ] AN . R S -
UlHAT) = #AE9E JUE: Ve A6l 8,
fig sz &9 o @y fommw wa § |
IpfFEd FOE 0 ¥ HE-Am Tl 2 0
fa) ‘aﬁﬁl
(b) e 2
&) 13T 224
() A4 1,982
AMC-U-BKLP (18

o4,

55.

56.

~A)

smeEnr, Fefafies § & f S 6 oo
27

1. g

9. ¥R

3, &

4. HifE

A Ty T e @ wEnT # oEE I b
(a) I 1, 23 3

(b} e 23N 3

{¢) HaET 3 HW 4

(d) Fae 1,434

‘o Fem el sEmTEn SR % aed A,

Freafofias et 4 @ FraE =8 22 9

L. e Al (NITD 21 e A R

2. GOHA H SR SIGE T 4,00,000 F0 & |

e fEu e whe Wi e ad) e af

(a) TEel 1

(by HaE 2

(¢) 18 2EHl

(dy Ad LTIE2

RN FEEE gl (e swrgE

Haferdt) .

(a) UERM T sEEEA % IEE # few
ASKAN T 399 8, = vform faam
gmmﬁqmm(aﬁz}ﬁﬁaﬁﬁa
|

(bl TOTHN #Fw @ grarE PEvel &
qsﬁaﬂmmaﬂa'ﬂﬁiﬁr{%ﬁﬂm
1 FEAM B, W ARd  SEEET
R iRl weflefEl  (PRPs) &
dant st e = g we R

) GEPD#.WMWWW%M

qH W wEAW B, W T HEEEA

sfeismat w1 el w9 W e 2

fom ool fafdw w@oda w0 fi

aHal & |

UNCTAD gRT i soao 2 =t faem

i waaET & fem & faamm =9

ST I FAH N OTAH FA B

{d)

Downloaded from: http://studymarathon.com/




Bl.

52,

03,

AMC-U-BELP

Which one of the following was a very
important seaport in the Kakatiya kingdom ?

{a) Kakinada
(b)  Motupalli
(¢} Machilipatnam {Masulipatnam)
(d}

Nelluru

With reference to ‘Global Climate Change
Allanee’, which of the following statements
igfare correct?

1. Ttisan initiative of the European Union.

2, It provides technical and financial
support to targeted developing countries
to integrate climate change into their
development policies and budgets.

3. Tt iz eoordinated by World Resourges
Institute (WRI} and World Dusiness
Council for Sustainable Development
(WBCSDL

Select the correct answer using the code given

below ;

fa)  1and2only

(hy 3 only

(el 2and3only
wdy  1,Zandd

With reference to the religious history of

Indie, consider the following statements

1. ‘Sautrantika and Sammitiya were the
sects of Jainism.

2. Sarvastivadin held that the constituents
of phenomena wers not wholly
momentary, but existed forever in a
latent form.

Which of the statements given above is/are
correct ?

() 1only

(b) Zonly

te)}  Both 1and 2
(d} WNeither 1 nor 2

54.

56.

(18-A)

Mediterranean Sea iy 4 border of which of the
following countries ?

1. Jordan
2. Irag

& Lehanon
4, Syria

Select. the correct answer using the code given
balow :

{a} 1,2and3only
{b) 2and 3 only
{el U and4only
(d) 1,3 and 4 only

With reference to ‘National Investment and

Infrastructure Fund’, which of the following

statements is'are correct 7

L. It is an organ of NITI Aayog,

2, It has a corpus of T 4,00,000 ecrore at
present.

Select the correct answer using the code given

below :

(a)  lonly

(bl 2only

ic) Both 1 and2

(d) Neither 1 nor 2

The Global Infrastructure Facility is afan

(w)  ASEAN imitiative to upgrade
infrastructure in Asia and financed by
credit from the Asian Development

Bank.
(b World Bank  collaboration  that
facilitates  the  preparation  and

structuring of complex infrastructure
Publie-Private Partnerships (PPPg) to
enable mobilization of private sector
and institutional investor capital.

(g}  Collaboration among the major banks of
the world working with the OECD and
focused on expanding the zet of
infrastructure projects that have the

potential to mobilize private
invastment,

tdl UNCTAD fnded in_il.jutive that seeks to
finance and facililale infrastructure

development in the waorld,
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57. ©ish anr & Tt & fow amiam

58,

59.

AMC-U-BKLFP

(a) Wra # FEm =0 a9 e Ot =fe g
SriEe Tohan 1 Hehar & |

by fom Fate & i Bate o 2, gt
F Tt Famd g gifes fen s g
2
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Frm i wwm 2 |

(d) 9nd & e o amfes gm aifae Rea

ST WA B |

ffefias a1 @ faam s .

1. Hud o, fewem Faw o9 o= # e
B E |

2. uFEdt uR %ew uiw TS H %9 R
gr

3. Themedfmsm =it defigd

3w FAt A G A ad 28

(a) *HeEe 139K 2
(b) A 3

(c) Thad 23T 3
(d) Had 1313

:ﬁaaﬁwﬂémtﬁnmumﬁmﬂ:%qaﬁm

HIEE 2 7

(a) T H sATadlsE T ore % few

(b) =9 uitegfss w3 A siedlss w1l F
e % fau

(¢) Wl gififeafas @31 § weum & e
% fom

(d) I T EET 0 atatee T e
% femm

60. wEM WA wiaey & o § wEw wyE

61.

{:‘ZE-—-A}

s T Hgad T FEW (UN-Habitat) %1
uf % wed #, Freffes w § @
T T B 2

1. HEE TN WEEWT % g0 wge U
Wi il Ead e wn @ fF o=z
wmETers vE waiEly gfR 3 uneiy T
chia] 3T TE0 S HARE S owd
e STE U i Bl |

2. wen HEfEn Tk owsR @ e g
yrfirroor £ 8§

3. HYW T gEw, TURE 9 we w9
7 W & Tou dgee g sgar & ey
Iev9 T AMEE T | |

H= BT T Fe w1 A R wE I g

(@) 1,233

(b) e 133

(e} et 2 31 3

(dy whee 1

T e FrEar FEaE (NSQF) & wey 1,
F=fafEs =@ & o sad ad 28 2
I. NSQF & andim, Tl sema =

AT e stoenfer fen & arem @
B 9T HEA B

2, NSQF & Grarm=ae &1 us g gfomg

?mmﬁm-ﬂhmmﬁrw%nmﬁmﬂr
|

A= f2u T Fe S W I g

(a) THae 1

(b) el 2

(¢) 13T 22

) TALTE2
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57. Tor election to the Lok Sabha, a nomination | 60.
paper can be filed by

(a) anyone residing in India.

(b) & resident of the constituency from
which the election is to be contested.

{c) any citizen of India whose name
appears in the electoral roll of a
ponstiluency.

(d)  any citizen of India.

58. Consider the [ollowing statements :

1.  In India, the Him a]a,ﬁa:s are spread over
five States only.

2. Western Ghats are spread over five
States only.

3.  Pulicat Lake is spread over two States
only.

Which of the statements given above isfare

correct 7 .

{a) 1and2 only 61.

(b) DBonly

ic) 2and8only

(d} 1and 3 only

59. Biological Oxygen Demand (BOD) is a
standard eriterion for

{a) Measuring pxygen levels in blood

(b Computing oxygen levels in  forest
peosyEtEmS

le)  Pollution assay in aguatic ecosystems

(d)  Assessing oxygen levels in high altitude
regions

AMC-U-BKLP (21=-A)

With reference to the role of UN-Habitat in
the United Nations programme working
towards a better urban future, which of the
statements is/are corract ¥

1. UN-Habitat has been mandated by the
Uinited Nations General Assembly to
promote socially and environmentally
sustainable towns and cities to provide
adequate shelter for all.

2 Its partners are either governments or
loeal urban authorities anly.

3. UN-Hahitat contributes to the overall
ohjective of the United Nations system
o reduece poverty and to promote access
to safe drinking water and basic
ganitation.

Select the correct answer using the code given

below :

fa) 1,2and3

(b} 1and 3 only

(el  2and 3only

(d) 1only

With  reference to  ‘National  Skills

Qualification Framework (NSQF), which of
the statements given balow is/are correct ?

1.  Under NSQF, a learner can acquire the

certification  for competency only
through formal learning.
2 An  outeome expected from  the

implementation of NSQF is the mohility
hetween  vocational  and
cducation.

general

Select the correct answer using the code given
below :

(a) 1only

thy 2 only

{c) Bothland?2
() Neither 1 nor 2
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62. Wil sEm F meed §, Qg s | 65
(sraanl) fagr fondt Fifds = 2 9
(a) &2 faarmes %1 3 T F v |
(b) & #WEEl, 3uq 2w K usy T
& T
(e} @ VHFE-ATEA, TF Fed H i gEy
feedt o 2 |
(d) g H TEEifad Bedi oS get
famra |
63. Sue s afdy F g ¥ it s
1. w3EE i gfw, wifds s ahem
W~WW,WWEW%I 68.
2, AvHe wilan wfE w1 2w oF sffim
garel % fom T % EEt % gava §
oo e & 9 F wny e & )
I HYA W W HAEE w A e
(a) HaEe 1
(hy whad 2
* () 1aﬁTBEHT'
() Ta 1,992
64, F=fafEg soi 4 & w9 79 8§ s
T A ‘garegen gimedl & anofim dem
Tgft (S B geeiEe wEE o s
THZH/S4A)’ 1 Gallegsz Gui Hwa 2 2
(a) 7E WHR gl TAsfia fGwmmes gt
#1 wideufoefy et w femr w60 &
TG E |
(h) TR ANSEEH WIOAET] H AT i i
2 Huie Al i T gEE % | gr
ggiTE % fo iy fiod 5% 1 whm
g |
(c) I% FT HEEH & ITFN & =X o
aren # fatEw e R
(dy IR HEHE g EE B F e et
Ve il #18’ w1 uH ey IvEy
2
AMC-U-BKLP (22-A)

(bl

F=ferfan sudi g famm Hifso -

1. TeqEd] SR Yl Wi =ik e
T SIEEIg UG = 91 TEEET (CCAC),

G20 FHE = 23] & U A4 g5 B |
2. CCAC TW#4, &FT  @EA U5
ASEFE ST 51 g 0 2 |
Fuded el § ¥ wE-wA FE AR 2
(a) had 1
(b} =Had 2
(e 13 23HT

(d) A9 1,98 2

VIR A T JETEHE S SR et

mrerl o 3fgfien Sfews afvm zedE qony

* wed W, fofufes wed @A

FH-TIE FE BE 7

1. 10D uitee, Somsieadim uivaft fig
HEHr  ve  IwrEfeEdE gEi e
HETETR % HE HORE A < s §
fadife & 2 )

2. 10D 9= HEET W UEAE F W5 F
qutfad &t Hed! & |

=Tel T80 70 e S TN W HE I gl

(a) *FEA 1

et 2

(¢) 13T agm

(d) sd 1,782

A5 AW wfEArs N OITR WEAE @l i
Zga digd 8, a4 FBefafiegs 4 © e = w
AT HEH A R 0

(&) fﬁmﬁﬁmﬂﬁa

(b) e T

(el ;T%W.’aﬂ'ﬁ

(d) B wied
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62. In the context of Indian history, the prineiple | 65.
af ‘Dyarchy (diarchy) refers to

() Divigion of the eentral legiglature inta
two houses,

(h)  Introdoction of double government ie.,
Central and State governments.

(¢)  Hawing two sets of rulers; one in London
and anpther in Delhi.

td)  Division of the suhjects delegated Lo the
provinees into two categories.

63. Consider the following in respect of ‘National

Career Service’ :

1. National Career Service is an initiative
of the Department of Personnel and
Training, Government of India.

L. MNational Careser Serviee has been | 8.
launched in a Mission Mode (o improve
the employment opportunities  to
uneducated youth of the couniry.

Which of the above statements is/are correct 7

ta)  1only

(hi  2anly

el Both 1 and 2

()l Neither 1 nor 2

64. Which of the following statements best
deseribes the term ‘Scheme for Sustainable

Structuring of Stressed Assets (54A), recently

seen in the news ?

(a7 It is @& procedure for considering
ecological ecosts  of developmental
schoemes formulated by the Government.

(b} It is a scheme of RBI for reworking the
financial structure of big corporate
antities facing genuine difficulties. 67.

(e It is a disinvestment plan of the
Government regarding Central Public
Sector Undertakings.

(di It is an impeortant provision in ‘The
Insolvency and Bankruptey Code’
recently implemented by the
Government.

AMGC-U-BKLP (23-A)

Consider the following statements :
1. Climate and Clean Air Coalition
© (CCAC) to Reduee Short Lived Climate
Pollutants is a unique initiative of G20
group of countries.
2 The CCAC focuses on methane, black
carbon and hydroflusracarbons.

Which of the statements given above isfare
correct 7

{al 1only

(b} 2only

(e} Bothland?2
(d) Neither 1 nor2

With reference to ‘Indian Ocean Dipole (10D
somelimes mentioned n the news while
forecasting Indian monsoon, which of the
following statements isfare correct 7

1. LOD phenomenon is characterised by a
difference in sea surface temperature
between tropical Western Indian COcean
and tropical Eastern Pacific Ocean.

2 An 10D phenomenon can influence an
El Nino's impact on the monsoun.

Select the correct answer using the code given
below :

ta)  lonly

(bl 2only

f¢} DBoth1land?2
td)  Neither 1 nor 2

If you want to see gharials in their natural
habitat. which one of the following is the best
place to visit ¥ ;

Bhitarkanika Muangroves

(a)

(by  Chambal River
(¢}  Pulicat Lake
{dy Deepor Beel
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68. fea wemrm Afes ofigary  (fawifam) | 7.
(TONS) % Heier 1 Fifetfiga gv fmm =i -
1. Wl (FE) TONS uRd ¥ 2015 H
WAt TEA ) sreasmn #§ I v |
2. IONS U wifess 9ae 2 91 2 geremn
& o wgaead] ou (vegH) Hi i
% W19 T Gwar H1 FGH1 =98 2 |
IIF FA W H FBAFA €
(a) Hae 1
(b) Had 2
(¢) 13 281 =
Sy FA LA
69. Afram vgmwitn & fo waifas afeg @il
W:ﬁﬁfﬂ'ﬁﬂﬁrﬂg,ﬁﬁ
a) Hﬂ'ﬁ'fﬁ%
(b) =g | &
(c) =AHR
(d) uHmH #
78.
m..ﬁﬂﬁrﬁaﬁaﬁmﬁaﬁﬁﬁfq:
FIERTE aHET
1. Sfm wfes 30w - fafid @
2. TFETTTEAE - TEl @
3. Gl ~ T
s fou o gwi @ & Wwed @ g
B 7
(a) =had 1
(b) Ee 23 3
(¢) a1 3
(d) I A G FHE A
AMG-U-BKLP (24 _A)

FfafEn ughgl 4 & swd $R 4 oW
HIY T RG] & Heha] 27 7

1 9 & 9 @ g A

2. wa i = & g fem w5 wgm

3. Thew 31999 F @ 0 8l 484 oA

A= fow T e o1 a3 g
(@) e 137 2

(b) Fad 3

(e) #H=a 13R g

(d) 1,23 3

freifeafias wet 1 faem Hifsw

WA TR mRe FwE whiE (WiEE w5y

IS ThiT) H I 2

1. fafee wivam &y = fem s |

2. HE e o A W R w R e
g4It 51 i WA F ARG ° o
Eericicill

3, @iy qm § Il & sifasrE S i |

I FUA A I WA wH R 7
fa) heer 19T 2
(b el 3
(¢) e 23T 3
(d) 1,233
Tvafefise gl 9 fe=m i
BT g FTH T o et
gy gerd TyrET e
HYG] [T
TG
1. femfes —
2. 3fae 99 —  wEHiEE Tl der

3. W B BT - OHEISTH TR
Iy fer m g F § FRwE wd gl
BB

(a) e 1

(b) hae 23T 3

(e} Hgel 13 4

(d) 1,23 3
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6B. Consider the following in respect of Indian | 71.
Otean Naval Symposium (TONS) ;
1.  TInaugural 1ONS was held in India in
2015 under the chairmanship of the
Indian Navy.
2. IONS is a woluntary imtiative that
seaks to increase maritime co-operation
AMONg navies of the litloral states of the
Indian Ocean Region.
Which of the above statements is/are correct ¥
(a) 1 only
Tz'
(b) 2 only
(¢) Boethland2
id) Neither 1 nor 2
69. The painting of Bodhisattva Padmapani is
one of the most famous and oft-illustrated
paintings at
{al  Ajanta
{hy Badami
(e) Bagh
(dl Ellara
73.
70. Consider the following pairs
Traditions Communities
1. Chaliha Sahib Festival — Sindhis
2. Nanda Raj Jaat Yatra — Gonds
3. Wari-Warkari — Santhals
Which of the pairs given above is/are correclly
matched ¥
in) 1only
(bl  2and 3only
(e) 1 and3only
(d) None of the above
AMC-U-BKLP (25—A)

Which of the following practices can help in

water conservation in agriculture ?

1.  Reduced or zero tillage of the land

2. Applying gypsum before irrigating the
field

3. Allewing crop residue to remain in the
field

Select the correct answer using the code given

below :

() 1and 2only
(b} 3 only

(e} 1and 3 only
(d) 1,2and3d

Consider the following statements :

The nativn-wide ‘Seil Health Card Scheme’

aims at

1L cxpanding the cultivable area under
irrigation,

2. enabling the bapks (o assess the
quantum of lpans to be granted to
farmers on the basis of soil quality.

3. checking the overuse of fertilizers in
farmlands.

Which of the above statemenls isfare correct ?

{a) 1and2only

(h) Jonly

(¢c) 2and3only

(d} 1,2and3

Consider tha fallowing pairs :

Unwanted ar
controverstal
vhemcals Likely to
e found in them

Commonly used [
consumed materials

1. Lipstick -  Lead
4. Softdrinks - Brominated
vegelable oils
3. Chinese - Monosodium
fast food glutamate

Which of the pairs given above is/are correctly
matched ¥

la)  1only

(b} 2and3 only

fec) 1and3 only

(dy 1,2and3
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74.

FEAEh TR ScHSl SEe  (FH0He @B

ufifen s@ie/OLED) &1 3udin =@ga & @mai

4 sl wedl (fefvee fewdt) afdq &00 &

faw G st 8 | g9 e wewt & qoen §

OLED 92 559 Wt @mammt § 2

1. OLED ¥Wedl 7= e  o&&rl W
Htetiaa fo <1 gehd § |

2. OLED % WM ¥, ¥& 4 ai.enfm
IfEeea vy (fee.a fiudt) wam
S HEd B

3. OLED % wan &, yresfi yedt gu= & |

= faw ™ e oM = I g .

(a) e 1373

(h) Had 2

(e) 1,283

(d) 3I94F HEA1 ° 9 *13 off T 6 2

75. T=fafgs 8 § sho@ gf o 5 fag

fawzam 22 o

1. 3FHag

9. HAHIHEH

N i

At fGu e v w0 wE I g

(a) ©had 1

(b) hee 23N 3

(¢) e 1301 3

(d) 1,2 3

AMC-U-BKLP (26—

78,

7.

A)

g e 9t e $ifso .

L. W BT AgEl 159 ) Rye o #
Fatam 1, iee a9 saflean 1 FaifEa
i & s % o, R T aaeE
FUHFY 50 Whergrer g7 Fifaemd # |

2. WWE % wWihuw ¥ Al syl &
AW, W HHT H AT W TR HgAA

A TE F AW B AU INERY F 9
Teger =1 w@T & |

I HAl § F B wE 8 2
(1) a1

(b) HAF 2

(¢ 13fT a2t

(d) #d 1,98 2

Feafeafiaa 4 & wEmA awa § 1001 § snfds

fiferl 2 sarfienr & wme wla genme 3% 2

1. GDPT FHl¥ F7 39 g8 €9 & 75 7 |

2. Tayq =mum § i % fForfa w1 aie ==
|

FDI %1 3idte (33%) @ @i |

yrm w1 faeet fafrm wywer 9w w9 8
" T |

#= feu v e @ Wi 9w A 3 g
{a) hae 13T 4

(b) ae 2,33 4

(e} Hee 2 3T 3

(d) 1,2 3304

il wifae =Eeig st St (qifes

el R T oIl S 5
27

(a) THo-TERETER F IEES
(h) FHa-Feflwnliy wnfes w0 Gofr
(¢) a1 # w=Fg F=nfHn
(dy T Hea SfEt W 3o
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74. Organic Light Emitting Dindes (OLEDs) are | 7g.
used to create digital display in many devices,
What are the advantages of OLED displays
over Ligquid Crystal displays ?

1. OLED displays can be fabricated on
flexible plastic substrates.

2. Roll-up displays embedded in clothing
can be made uging OLEDs.

3.  Transparent displays are possible using
OLEDs,

Select the correct answer using the code given

below .

{(al 1and3only

{b) Z2only

.

(e 1,2and3

(d) Nene of the above statements is
correct

75. Which aof the following is/are famous for Sun
temples 7
1.  Arasavalli
s Amarakantak
3. Oinkareshwar
Selact the correct answer using the code given
helow :

(@) 1only f
(b) 2and3only
(¢} 1and3aonly
(d 1,Z2and3
AMC-U-BKLF (27 -A)

Consider the following statements :

1. In the election for Lok Sabha or State
Assembly, the winning candidate must
get at least 50 percent of the votes
polled, to be declared elected.

2. According to the provisions laid down in
the Constitution of India, in Lok Sabha,
the Speaker’s post goes to the majority
party and the Deputy Speaker's to the
Opposition.

Which of the statements given above wfare

correct 7

fa)  1only

(b) 2 only

(¢} DBothland?2

(dy Neither 1 nor 2

Which of the following has/have occurred in
India after its liberalization of economic
policies in 1991 7

1.  Share of agriculture in GDP increased

enormously.

2.  Share of India’s exports in world trade
inereaged.

3.  FDI inflows increased.

o India’s foreign exchange reserves

increased enocrmously.

Select the correct answer using the codes

given below :

(a) 1and4 only
(b) 2,8 and4 only
(e} 2anddonly
idy 1,2, 3and4

Aoy wy A nEa

What iz the application of Somatic Cell
Nuclear Transfer Technology ?

(a)
(b}  Manufacture of biodegradable plastics

Production of hiolarvicides

(e}  Reproductive cloning of animauls

id) Production of organisms free of diseases
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70. Freafafias e w faan e .

81.

AMC-U-BKLP

1, wmdl oedtE yiar o (Aeeer giem
FarIE W% e /Nect) &= F
TS o HaHd T TeEr =4 § |

2. NPCIA U% %I Yidid 61 RuPay 91i4
Rl

g el 1 8 REEE SRR

ta) e 1

(h) a2

fed 130T 2FMI

(d) AW LAE2

‘M-STrIPES Weg =diedl e 4 fFa
Heed W el wiEl R v

(@) o= WS 1 92 oA

(b) ETE SR ] TG

el ﬁﬁﬁm‘ﬁﬁmm

(dy T TEHE g

‘a¥q ud HE1 W (g Ug afdds ¢/ GST)

% frafem feu o =& waffus wafaa @y

w1 28 7

1. d8 i § gl grn ags fee @
18 dge il @l YH o sl g8 uEn
R | FHTE Wi |

2. A% WA & e @@ 9 @ wmerd A
%Y T IHeh [@2¥] g HUST HI 997G
3H | w |

3. Fe wind | sesgeryr Howdlg R
T &l g7 &9 H wenn AW W e
ulegss § dF 8 WM we 9H 9
T |

@) FEE 1

h) e 2 3N 3

{e) =HEE 137K 3

(d) 1,233

82,

84,

(28-A)

‘FE-AUEGAF  ANE ¥R FEW WA
(Flesws ¢z s waweHe Uie/BrIA)
Ffl e gumT # oune i frefafaa 9 @
form e 3 A aweed & ow T fRad usa
27

(a) WH‘E

(h) e wem gfteg

(¢) 3nfehn wedin sl Gem gme

(d) ITEIS H@BENT A

Fefataa st m e Fifim .

1. HEF 4 WTO & TR §H 5 F TN
(TFA) =1 FATEHI T | |

2. TFA, WTO % =relt Hfaesdim 4o 2013
1 U 9 E |

3. TFA, 591 2016 7 WgT 82 |

e Yl | 8§ PV =Y MR 7
(a) a1 2

(b) “hae 131 3

(¢) HEE 2N 3

(d) 1,233

AT G GWER @gunE fawim S R w

HEE B 7

(a) STRRAT 90 & wEA % saew § an 3
B |

(h) Wei-3eTEs ¥E HE1 ° WA % HaY €58
& |

(¢) ZEmEE 3 gen ufim § v ¥ R
urA =1 a9 i 76 S ggm

(d) wifFeaE, s oty @ s AW
TEYEAES 1 HENTH g9 AT 3R
JHeRI HLE BT |
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78. Consider the following statements . 82,

1.  National Payments Corporation of India

(NPCI} helps in promoting the finaneial
inclusion in the country,

B NPCI has launched TuPay, a card

payment scheme.

Which of the statements given abhove isfare

correct 7

(a) 1lonly

(b & only

{c) Bothland?2

(d} Naither 1 nor 2 g1,

80. The term ‘M-STrIPES’ is sometimes seen in

the news in the context of

(a) Captive breeding of Wild Fauna

(b}  Maintenance of Tiger Regerves

(e}  Indigenous Satellite Navigation System

id)  Seeurity of National Highways

81. What isfare the most likely advantages of
implementing  ‘Goods and Services Tax

(GSTY ?

1. It will replace multiple taxes collected by
multiple authorities and will thus create a
single market in India.

2. It will drastically reduce the ‘Current | 84
Ageount Deficit’ of India and will enable it
to increase its foreign exchange reserves,

3. It will enormously increase the growth
and size of ecomomy of India and will
anahle it to overtake China in the near
future.

Select the corrvect answer using the code given

below :

{a) 1 only

(b) 2and3only

(e Lland3only

() 1,2and3

AMC-U-BKLP (20-A)

Broad-hased Trade and Investment
Agreement (BTIAY is sometimes seen in the
news in the context of negotiations held
between Indin and

(a} DEuropean Union
thy  Gulf Cooperation Council

(e)  Organization for Economic Cooperation
and Develapment

(d) Shanghai Cooperation Organization

Consider the following statements

1. India has ratified the Trade Facilitation
Agreement (TFA) of WTO.

2 THA is a part of WTO's Bali Ministerial
Package of 2013,

3.  TFA came into force in January 2016.

Which of the statements given above isfare

correct ?

fal 1and 2 only

(bl 1and3anly

ted 2and 3only

(dy 1,Z2and3

What iz the importance
Chabahar Part by India 7

of  developing

(a) India’s trade with African countries will

enormously increase.

(b India’s relations  with  ol-producing

Arab countries will be strengthened.

{¢) India will not depend on Pakistan [or
aceess Lo Afghanistan and Central Asia.

(d) Pakistan will facilivate and protect the
installation of a gas pipeline between
Irag and India.
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Ba.

B6.

87.

AMC-U-BKLP

wid H, "R e wews] wOfuR @
fafafas o @ fres /e fon ffw
sfiramens 278 ¢

LU e (A eETEet)

2. S EHA

8. e Fem (A FRE)

e o v she w1 wEeT woERl I g
(a) et 1

(b) e 1 T 2

(¢} a3

(d) 1,233

qrE § wefaen o fattm 59 % sfien
(o) Tt afirFm R

(by afis wfwn 2

() wHawfreh sifirem 2

(d) fafter sferm &

‘Frftr . =femonmdt smftg

(zafeas oo SeURUMEE 48 U=AT/eLISA)

] 1 07 WA B 9

(a) —IfAT =1 HEEA T

(b) TR AT HEEA

{e) TG (&N WoTiedl <l wHEsifidr &
HE AT ‘

() Tl TER anfe o W TE (Hen
TAU) % TUTE T TR FHEAT

88, ‘“fammmrtar FmET @ N WA # 7

89.

(30-A)

1. wiag faesfi Ber desi &1 awa 8 39
g @ier | e S | .

9. froft &3 3 wgEm i wEEE S
Tl Toemedl i 4 9F 9 Bem
TUET "] |

3. v ot e Eedt £ anafe
Al gEawe % geds % fow FRh
=l A weHl | Ufns fadi Imgm
I UiedTiEa = |

e faw v 2 w1 W A wE 3 e

(a) “heel 2

(b) Hadt 3

(¢) haet 13fT 2

(d) HEe 2303

T v AfE wEE W e R 7

(a) TAfew® @Al 91 T fBEn 55 A
A AR % #= gedn F1 9 w6
100% HIETAT T AT |

(b) == foean we=n= & =HEE @HgE |
wite1 fomd wfaa SeifE 3 wom &
Topme Sl SHTToE] o1 HEA TS 91 HE

(¢} WA W AmF AR Wi vfEm e
% T urma i Jfe s wEeT
il T T |

(d) T T e e st & e
=@y 3 foen & o foem st =
fafrum = ora Ooff fosfae w5 s
T fov Fwe TEw wEwn g
surad e ulam swllsa s |
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85. In India, it is legally mandatory for which of | BS.
the following to report on cyber security
incidents 7
1,  Bervice providers
2, Data centres
3.  Body corporate
Select the correct answer using the code given
helow :

(@) 1 only

{b) 1and2only
{e)  3only

d 1,2and3

86. Right to vote and to be elected in India is a
() Fundamental Right 89,
(b} Natural Right
{e)  Constitutional Right
(d) Legal Right

87. What is the purpose of ‘evolved Laser
Interferometer Space Antenna (eLISBAY
project 7
fa)  To detect neutrings
(bl To detect gravitational waves
(e To detect the effectiveness of missile

defence system
(d) To study the effect of solar flares on our
communication systems

AMC-U-BKLP (31=A)

What is the purpose of ‘Vidyanjali Yojana’' ?

1. Te¢ enable the famous . foreign
educational institutions to open their
eampuses in India.

2, To increase the guality of eduecation
provided in government schools by
taking help from the private zector and
the community.

3. To encourage wvoluntary manetary
contributions from private individuals
and organizations so as to improve the
infrastructure facilities for primary and
secondary schools.

Select the correct answer using the code given
below 1

{a) 2only
(b) 3 only
(¢} 1andZ2only
(d) 2and3only

What is the aim of the programme ‘IInnat
Bharat Abhiyan’ ?

{a) Achieving 100% literacy by promoting
collaboration between voluntary
ﬂrgan.iz&ﬁiuﬁs and FOVEMMmMENt's
education gystem and loeal

communities.

(b) Connecting institutions of higher
education with local comrmunities to
address development challenges
through appropriate technologies.

(¢) Strengthening India's scientific research
institutions in order tn make India a
seienlific and technological power.

(d} Developing human capital hy allocating
special funds for health care and
education of rural and urban poor, and
organizing skill development
programmes and vocational training for

them.

Downloaded from: http://studymarathon.com/




90. r=fmfas F9=1 w fa=m =Hfe .

91.

AMC-U-BKLP

1.  wra w FEEa amm gl G
%

2. WE W TR WA, W gAE Wi
JMAAET g TR T wEEm W
FT 2 |

4. el spdi s Tatae g6 %
T /faera # Hafim foare Foam 8

ITHET Fo A H BEATH TH AR 7

la) AT 14T 2

(b) e 2

(e) *hHeE 2 3N 3

(d) Thaei 3

YA H, 9 wYU & GH wd o g
(weam) sifufm, 1972 6) s 1% FtE
e aifvm e w0 &, @ s ffead =
L
) BY gy T 9 T U oS R oA
ol

(b) FE®H FG T7 &= W Aftaes gara 85 &
A TS G o Ukl HEHE B |

(e} wmmﬁ»gﬂﬁirqéaﬁwﬁ_m%

(d) wmﬁﬁmﬁaﬁm}mm}ﬁﬁﬁ%

82.

(32-A)

AR H, e e & o #

(a) % o wEwRm www @
e & a9 ¥ e w1 &
=rqurferT =1 A |

(b) Taarmvest go fiffe Rl & w5
THATA T 1 SIRAIeRT 1 AUHT |

(¢} =amyiieTeRt w1, wsft faamft Wit &,
wegafd g0 = W wenfy vem feu s
T, T 1 SAaw |

(d) TR @, @A A7 fim =@ 6 g i
fou M ow=d % Foim % ogrfiem =
s |

A =aadr 999 % #ag ¥, Fefafaa
were = i

1 TE feEa adt 6 e

2, HWH BIEl ARISH %l 9

3. e e aeeE

T TEATA] T HE Riellgshi ol B ¥

ta} 1-2-8

(b) 2-1-3

bed  3-2-1

{d) 3-1-2

Freaferfas wot g form Fifir .

1. fiwd 2o # yRa % GDP % whiwm &
&9 H HlAad H wad fp ad @ |

3, ﬁ@%mﬁw%um#m#

L . A T
Y H 4 g Hic H Hao il-ﬁ ﬁ_lﬁ E i

T@ﬁwﬂﬁﬁaﬁﬂmm w2
(a) o 1

(b) = 2

(e) 13 23F

(d) Ad1LTE 2
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90. Consider the following statements : 92.

1.  The Election Commission of India is a
five-member body.

2. Union Ministry of Home Affairs decides
the election schedule for the conduct of
both general elections and bye-elections.

3. Election Commission resclves the:
disputes relating to splits/mergers of
recognised political parties.

Which of the statements given above is/are

correct ?

93.

(a} 1 and2only

(b) Z2only

(c) 2and3only

(d}  3only

91. In India, if o species of tortoise 18 declared

protected under Schedule I of the Wildlife | 94.

{Protection) Act, 1972, what does il imply 7

(a} It enjoys the same level of protection as
the tiger.

(b} It no longer exists in the wild, a few
individuals  are  under  captive
protection; and now it iz impossible Lo
prevent its extinction.

(¢} It is endemic to n particular region of
India.

{d) Both (b} and (¢) stated above are correct
in this context.

AMC-U-BKLP (33-A)

In India, Judicial Review implies

(a} the power of the Judiciary to pronounce
upon the constitutionalily of laws and
executive orders.

(b) the power of the Judiciary to guestion

the wisdom ol the laws enacted by the
Legislatures.

{¢)  the power of the Judiciary to review all
the legislative enactments before they
are assented to by the President.

id) the power of the Judiciary to review its
own judgements given éarlier in similar

pr different cases.

With reference to Indian [reedom struggle,
consider the following events

1.  Mutiny in Royal Indian Navy
2, Quit India Movement launched

3. Serond Round Table Conference

What is the correct chronological sequence of
the above events ?

(gl 1-2-3
(hy  2-1-3
{g) 3-2-1
(dy 3-1-2

Consider the following statements :

1. Tax revenue as a percent of GDP of
India has steadily increased in the last
deende.

2. Fiscal deficit us a percent of GDP of
India has steadily increased in the last
decade.

Which of the statements given ahove is/are
vorrect 7

(a)
(hi Zonly

(¢) DBoth 1and2
{d) Neither 1 nor 2

1 only
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76l B W, FT W H U R I WEow
yawm A Fefefies § 8 fre @ oo w
TYHTAG by T w1 e @1 7

(a) THIFE T IGH

(b) AT TG TEE WA

(c) WFATTS Ssa AW

(d) -l s 3EE

frel g d vemla s f agaimn 5
Frofafies & 8 w8 oo = g9 amawes
78 R 7

1. T fage v = Tge

2. TS @ ARy %1 gerEr S

3. i Gerl & e

{a) Hee 13 2

b) <Fad 13 3

(c) oEe 233

(d) 1,233

qd % F@EaE A g & fawg sfusn go

frafafias 4 & wma ofeslem € ¢

L. WEE G =M 3 ayan gagl (|md)
=i

2. HATRAE = 39T

3. eTEeTH % g

4. FEEE A0 wEE § w= % P =
gL

fi fqu m 55 = wEm o 3w g

(a) THaw 1,23 4

(b) e 2,330 4

(¢) e 13 4

(d 1,2 334

98.

Feffga 0 8 s difas w1 4 i
Frepram & wed T 2 7 '

(a) HHTE
(b) T

(e} STET
(@ ot =

FefaiEa #@ 0§ 39w oW ghw, S
AEHIVEE t@%y il WEH & FAHEd Haed

(a) UH HHR F g seilEAl S RS
F & =gged, et et e &
a1 38 It % gam & o fewfea s
FfeT 8 |

(b) ft wER F Fmeww § oAl @
Fenfafy, fous sowfim B ufifa
Ted MEE |

(c) WM & I & a0 FHES Ieeie
@l gHfTee w6 & fom awem sieaa A
ek fafefe |

(d) I IMEATAN F ET HI HIET B
U "WeE e e 9 e e
=

100. F=fefiag 1 9 w98 ow wie" guu=g 9z

(34-A)

1 ferdrar 777 2 2

(a) HWA H W =i & |

(b) e N U F = TEAE #w W=
fepsmsa T 2 |

(c) #H™g B aATell THEG W U ww oA
arEe it R e g

(d} @' Fueg BH G0 TEEA] % odle U
HanTa = aftomy 3 |
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95. Recently there was a proposal to translocate | 8.
some of the lions from their natural habitat in
Gujarat to which one of the following sites ?
(a) Corbett National Park .
(b) Kuno Palpur Wildlife Sanctuary
(¢}  Mudumalai Wildlife Sanctuary
{d) Sarizska National Park
., Which of the following are net necessarily the | 99,
consequences of the proclamation of the
President’s rule in a State 7
1.  Dissolution of the State Legislative
Assembly

2, Removal of the Couneil of Minigters in
the State

4. Dissolution of the local budies

Select the correct answer using Lhe code given

below :

(a} 1and2only

(b 1and3only

() 2and3only

d) 1,2and3

97. Which of the follawing are envisaged by the
Right against Expleitation in the Constitution
of India ?

1. Prohihition of traffic in human beings
and forced labour
- 100.
2. Abolition of untouchability
3 Protection of the interests of minorities
4. Prohibition of employment of children in
factories and mines
Select the correet answer using the code given
below :
{a) 1,2 and4only
{b) 4 3 andd4only
(e} 1and4 enly
(dl 1,2, 3and4
AMC-U-BKLP (35-A)

Which of the following is geographically
closest to Great Nicobar ?

fa) Sumatra
(b)  Borneo
le}  Java

(d) Sri Lanka

Dut of the following statements, choose the
one that brings out the principle underlying
the Cabinet form of Government :

(a)  An arrangement for minimizing the
eriticism against the Government whose
respongibilities are complex and hard to
carry out to the satisfaction of all.

(b} A mechanism for 'speeding up the
activities of the Governmenl whoese
responsibilities are increasing day by

day.

() A mechanism of parlinmentary
demoeracy for ensuring  colleclive
rosponsibility of the Government to the
peaple.

A device for strengthening the hands of
the head of the Government whose hold
over the people is in a state of decline,

(d}

Which one of the following is noel o [kalure of
Indian federalism ¥

(a) There is an independent judiciary in
[ndia.
(b} Powers have been clearly divided

betwesn the Centre and the States.

(el  The federating units have been given
unequal representation in the Rajya
Sabha.

(d} It is the result of an agreement among

the federating units.
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